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}Vithin }0 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

Each question in this Booklet is followed by four alternative answers. For each question, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

Deposit only the OMR Answer Sheet at the end of the Test.
You are not permitted to leave the Examination Hall until the end of the Test.

If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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Note :

1.
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14P/258 /29

Full Marks/quit® : 150

(1) Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded

for each unattempted question.

sEfe T B @ FA F WS K TAS TH 3 IF F 2| IAF Ted IW F
fi ww % 1 QN | YAF JARA T F TWE A @AM

(2) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

IR s s Im @@ IW F free wha &, A Feeam @@ w2

The natural fibres are

(1) art silk ' (2) polyester (3) cotton
frad fififa ag R
(1) ¥ R (2) TR (3) g

‘Popline’ fabric is manufactured from

(1) wool (2) polyester (3) wviscos

(4) nylon

(4) @A
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‘Yoz’ wyT fFad w=7a@ X7
(1) 34 (2) uiferoez 3) fr=rw (4) g@

3. Which one of the following is not a protein fibre?

(1) Gold (2) Nylon (3) Cotton (4) Silk
frafafea & @ MN-w ag A A& 22
(1) | (2) @A (3) T (4) fres

4. Cotton fibre is a protein fibre.
(1) True (2) False
(3) There is no fibre (4) Mix-fibre
gt ag A A w0 T R
(1) & (2) e
(3) @ @ ag @ R (4) Pew ag

S§. Silk fabrics are very comfortant.

(1) False (2) True (3) 50/50 (4) Sometimes only
fires F® wga amREw w2 & ’

(1) 7&a (2) =& (3) 50/50 (4) ah-mf

6. Which place in Maharashtra is famous for pre-historic cave paintings?
(1) Ajanta Cave (2) Verul Cave

(3) Bagh Cave (4) Bharavgarh Cave

(152) 2
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TR @ PE-A WA yitfeRe (me) Rl & fog wRig R7
(1) =1 & (2) ¥ TH (3) " Tw @)

Warp thread is also called

14P/258/29

HWRETg TH

(1) hank (2) ends (3) picks (4) reed
R w um R 3= W /@ S S k7

(1) &= (2) wEE (3) Rew (4) @
‘Chandrakala Sari’ comes from which place?

(1) .Chanderi (2) Paithani (3) Karnataka (4) Andhra
‘Szwen Wi few &3 A R7

(1) <@ (2) e (3) wHew (@)
‘Iikal’ Saris are woven on

(1) Dobby looms (2) Jacquard looms

(3) Handlooms (4) Pit looms

waa W@ g —— W R b '

(1) s g (2) ¥ T (3) Eeqm (@) fe =
Which are the most expensive Saris of Gujarat?

(1) Maheshwari Saris (2) Tie and dye Saris

(3) Chanderi Saris (4) Zari work Saris

T B waifs wEh T da-d@ b

(1) TR (2) W& wH (3 & «h . vl wre}
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11.

12.
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14,

15.
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Baluchari are Saris from

(1) Gujarat (2) Maharashtra (3) West Bengal
Tt wl A wfet €2
(1) g (2) wewE (3) "frm T

The technique of Patola is of

(1) Kashmir ~ (2) Odisha (3) Bihar
et i aads fm § @ sl R?
(1) o (2) Ifem (3) fagm

Which one of the following required crome dyes?

(1) Rayon (2) Art silk (3) Wool
frafafee & & a-@ onf ¥ FW T N EEEa 2?7
(1) = (2) I frew (3) 34

Bagaru textile is famous for

. (1) Dobby (2) Jacquard (3) Block

TTe T feas forg wfig &7
(1) 3 (2) d=rd (3) =t

When we mix-yellow and blue, we get

(1) orange (2) green (3) vioict
dien otk ften o1 e ——— a7 R
(1) arcft (2 & - (3)

4)

(4)

(4)

4)

4)

4)

(4)

(4)

(4)

4)

Tamil Nadu

aftrerTg

Gujarat

Jute

Kalamkari

black



16.

17.

18.

19.

20.

(152)

14P/258/29

Which one of the following required more tcmperatufe for dyeing?

(1) Polyester (2) Viscos (3) Cotton

PrafRa § 3 M-@ f ¥y 3w TR H sEEEn Ah 27

(1) uiferger 2) = (5) g

Which one of the following is best suited for crome dyes?

(1) Wool (2) Cotton (3) Nylon

it % ¥ B w Bln e A awEweh g %7

(1) 3= (2) ¥ (3) “wafq
‘Honey-comb’ is a kind of weave.

(1) advance (2) modern (3) plain
‘wh-wna’ @ R f —— s R

(1) @) s @) e ()
‘Extra-warp’ is a kind of weave. '
(1) basic (2) advance (3) Jacquard
‘wfdfs a’ @ IR B — T R

(1) ¥fk= (2) = (3) J=rd

When we mix ‘Satin and Twill’ weave we get

(1) Twill (2) Diamond (3) Crepe
‘aRA w e g e —— W
(1) &= (2) wRWE (3) &9

| | 5

(4) Silk

(4) s

(4) Rayon

(4) @i

(4) basic

(4) ¥fw=

(4) Dobby

(4) 3l

(4) Damax
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21. How many ends are there in the 10 Ends-Broken Twill weave in its warp weft form?
loamﬁmiiaﬁaﬁ'qé&w(mqém)ﬁﬁmﬁmﬁﬂg?
(1) S/5 (2) 10/10 (3) 10/S0 (4) 10/20

22. You need just 4 warp and 4 weft yarns to make a weave.

(1) basket (mat) (2) satin (3) plain . (4) fancy
4@l @@ 4 9E A Rrema Aa-d g w7
(1) ke (F2) (2) @fe (3) = (4) &=

23. The weft threads are mostly used as

(1) picks (2) horizontals (3) ends (4) verticals
M F o e owge A €7
(1) fm (2) 3 B Tw @ =3

24. Dabu printing is done by

(1) screen (2) hand (3) discharge (4) block
s fifdn femd 6 st 27
(1) & (2) w4 (3) femami (4) saf®

25. Which one of the following looms is used in ‘Jamdani Saris’?

(1) Jacquard loom (2) Dobby loom

(3) Power loom (4) Handloom

Proffes & 3 fm q@ = s ‘smeEt @@’ § R w47

(1) rd 7@ (2) s =@ (3) o qw . (4) tvsqm

(152) 6
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26. What is the standard length of a ‘Count’?

(1) 10000 metres (2) 9000 metres  (3) 1640 metres  (4) 840 metres
‘FEe 6 v was o F wd k7

(1) 10000 ¥ (2) 9000 (3) 1640 HA (4) 840 X
27. ‘Mushroom’ is a kind of weave.
(1) crepe (2) mock-lino (3) wrap twill (4) satin
‘ren’ @& AR B —— T A
(1) *9 (2) wiE- (3) I = (4) wfR
28. Dobby loom produo;:s a
(1) semi open (2) bottom closed (3) upper closed (4) middle closed
it o w & fmfo &= 2
(1) ad g 2) M A @I (3) INH WE IR @) @f=d s

29. How many hild-shaft will be required for production of 10 ends and 10 picks
‘Mock-lino’ weave?

(1) 10 hild-shaft (2) 4 hild-shaft  (3) 20 hild-shatt  (4) 5 hild-shalft
10 a1 @ 10w'nﬁs—t~ﬁ'%mtgﬁwﬁftﬂ-mﬁmm@?ﬂt?

(1) 10 fes-mw (2) 4 Reg-T®R (3) 20 fres-mwe  (4) 5 fez-wR

loom.

30. Lingos is used in
(1) jacquard (2) plain hand (3) pit (4) table

(152) 7 (PT.0)
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forie =1 @ ——— qu & Qw1 R
(1) =k (2) = g @) e . @) =
31. Which one of the following is weft fare twill?

foff 4 & fh-w | H sfrwmw of = Ra o 22
(1) 3/4 (2) 4/4 3) 6/6 (4) 6/2

32. What will be the equivalent 140%/2 cotton yarn?
140%/2 gt um & wwgew 3’H T R?

(1) 70° (2) 40° (3) 30° (4) 140°

33. What is the weight unit of tex system?
@ ogfl d s A e w27 .
(1) 1680 gm (2) 1000 gm (3) 900 gm (4) SO0 gm

34. Bottom Closed Shed Dobby produces a shed.
(1) bottom closed (2) semi open (3) top closed (4) centre closed
R T VT TR ——— Az | Pwtw w2
(1) M 7w = (2) od ga
(3) I N 7w = @) @A o =

35. How many lifts are required in Handloom Dobby?

(1) 1 lift (2) 4 lifts (3) 3 lifts (4) 2 lifts

(152) 8
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Yogen R F e forw it smavwa @t X7
(1) 1 forw (2) 4 fow (3) 3 forw 4) 2 forw

How many longways are required for 400 Hooks Jacquard?

(1) 40 longways (2) 80 longways - (3) 120 longways (4) SO longways
4oogaa%mréiﬁmﬁahﬁﬁmmﬁﬂ%?

(1) 40 @t (2) 80 =t (3) 120 @t (4) S0 &M

In Jacquard machine, Greefs are lifted by

(1) Greef (2) Liver (3) Cylinder (4) Lingos
Iwd e F fis —— TR ¥R IR &

(1) e (2) e (3) fadvm (4) fom=

How many needle are required for a 200 hooks double lift Jacquard?
(1) 400 needles (2) 300 needles (3) 800 needles (4) 200 needles
2mwmﬁwﬁw£ﬁﬁmﬁ=ﬂmﬂmﬁ?ﬁt?

(1) 400 HEa (2) 300 Hiza © (3) 800 Hfizw (4) 200 Hizw
‘Plain Handloom’ produces shed.

(1) centre closed (2) bottom closed (3) semi open (4) top closed
‘@ Rozew’ AT & fmin @ R

(1) 7@ ] ¥R 2 MIw @ g (4) I H TE ¥

9 (P.T.O.)
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41.

42,

43.

(152)

‘Lattice’ is used in —— loom.

(1) jacquard (2) dobby (3) plain (4) vertical
Rirc i DR o Qe—— 0 T

(1) Srd (2) =« (3) = @) T®:

The process in which fabric is passed through hot rollers to give smooth finish is called

(1) Calendering (2) Finishing (3) Singing (4) Bleaching
T yiFm Rl #03 Ft m A F A9 A e war W FA G PR §
(1) Avsfin (2) fffim (3) f&fim (4) shfsm

‘Rajasthan’ is famous for which type of fabric?

(1) Sananeri print (2) Woven fabric
(3) Embroidered fabric (4) Handloom fabric
‘T’ e wER % w98 ¥ R wRig 27

(1) #FRd fe 2

(3) w3 frm gan www (4) TUFR T FIH

Which one of the following requires Glober salt?

(1) Rayon (2) Asbester (3) Polyester (4) Silk
Prefafa # @ d-@ o ¥g R wiee N raEEm 27
(1) W@ | (2) TR (3) uleftwex (4) fae=s

10
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‘Herying Bone’ weave is a kind of fabric.

(1) furnishing (2) shirting (3) suiting (4] Dupatta
W a7’ v D ¥k ¥

(1) wffim (2) wfdn (3) gfem (4) @

Which one of the following dyes is used for polyester yarn?

(1) Metallic dye  (2) Crome dye  (3) Acid dye  (4) Dispar dye
frafafa & @ A-@ o =1 offtrge & fog ST w=@ &7
(1) ¥afeds @ - (2) I @ (3) 3= T (4) e @

How many warp beams are required in Loop Towel’?

(1) Four beams  (2) One beam (3) Three beams (4) Two beams
‘T e ¥ R e el @ srawea @@ 27
(1) IR ¥m (2) & ¥m (3) = &fm | (4) @ dm

Which method gives manufacturers maximum for these inventories to meet large and
small demand for a given colour as fashion requires?

(1) Cloth dyeing (2) Beam dyeing (3) Tub dyeing (4) Piece dyeing
fr ARt A sz Fufe, S 6 win f I @ N TR A

(1) =g T (2) w3 (3) & T (4) @ sidn
Which one of the following requires low temperature medium for dyeing?
(1) Polyester (2) Nylon (3) Rayon (4) Silk
~———
11
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49.

50.

frafafys 3§ ¥ frm ond ¥ *9 aER H smaEEm wd X7
(1) wfferex (2) “mata (3) W@h 4) =

Batic dyes is a

(1) water insoluble dye (2) In situ colour formation dye
(3) not a dye (4) water soluble dye

s T qd R

(1) vt § argeefar (2) 3 Rz v

(3) =# (tn) 7 R (@) T § gemfa

What type of Sari is ‘Bagaru’ (Rajasthan)?

(1) Printed (2) Woven (3) Painted (4) Embroidered

‘e’ (Torear) R wer 6 wrd R
(1) =ft & 2) Tt (3) ¥m @) @ &

12 D/4(152)—100
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